
Anglický jazyk – 6. 4. – 10. 4. 

Hello everyone !  Here I am again with some tasks. 

► 6. 4. 

Kontrola: 

ŘEŠENÍ – 53/3 

Scotland is colder than England. Scotland is further from France than England. 

Scotland is hillier than England. England is sunnier than Scotland.  

England is warmer than Scotland. England is larger than Scotland.  

Scotland is smaller than England. England is nearer France  than Scotland 

……………………………………………………………………………………………………… 

Udělej  

PS 46/1           PS 47/2, 3 

► 8. 4. 

Dnes se vám pokusím vysvětlit, jak se tvoří třetí stupeň přídavných jmen. 

Do sešitu 8 April: 

Superlatives (3. stupeň přídavných jmen) 

Třetí stupeň přídavného jména vytvoříme přidáním členu the a koncovky   -est. 

Platí mluvnická pravidla jako u 2. stupně přídavných jmen. 

a) normální příd. jména 

high  -     the highest            fast  -      the fastest 

b) s koncovkou -e 

nice – the nicest                    fine – the finest 

c) krátká 

flat – the flattest                    hot – the hottest 

d) nepravidelná 

  good – the best                bad – the worst                far – the furthest 

Dále si do sešitu zapište: 

Uč 54/1  (opište otázku a napište správnou odpověď) 

► 9. 4. Hezké Velikonoce  


